3-Digit Minus 2-Digit Subtraction (G)

Name:

Date:

157 — 37 =
690 — 17 =
423 — 57 =
730 — 53 =
487 — 42 =
808 — 32 =
343 — 11 =
698 — 55 =
774 — 47 =
625 — 81 =
228 — 51 =
247 — 90 =
250 — 21 =
908 — 33 =
442 — 99 =
350 — 45 =
204 — 85 =
344 — 17 =
490 — 73 =
457 — 72 =
919 — 37 =
882 — 84 =
334 — 59 =
533 — 55 =
440 — 99 =

Calculate each difference.

739 — 55 =

724 — 65 =

497 — 14 =

656 — 55 =

581 —62 =

883 — 88 =

985 —-83 =

354 - 81 =

684 — 88 =

242 =75 =

438 — 11 =

327 — 56 =

832 —65=

437 — 51 =

433 — 96 =

577 —94 =

724 — 62 =

576 — 54 =

582 — 46 =

430 — 63 =

711 — 19 =

587 —-90 =

417 — 14 =

949 — 65 =

622 — 89 =

Score:
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3-Digit Minus 2-Digit Subtraction (G) Answers

Name: Date: Score:

Calculate each difference.

157 -37= 120 739 — 55 = | 684
690 — 17 = | 673 724 — 65 = | 659
423 — 57 = | 366 497 — 14 = 483
730 —53 = 677 656 — 55 = | 601
487 —42 = 445 581 —62 = | 519
808 —32 =776 883 —88 = | 795
343 —11 = 332 985 —-83 = 902
698 — 55 = | 643 354 —81 = | 273
774 — 47 = 727 684 — 88 = | 596
625 —81 = | 544 242 —75 = 167
228 =51 = 177 438 — 11 = | 427
247 —-90 = 157 327 —-56 = | 271
250 —21 = | 229 832 —-65= 767
908 —33 = | 875 437 —51 = 386
442 — 99 = 343 433 — 96 = 337
350 —45 = | 305 577 —94 = | 483
204 —-85= 119 724 — 62 = 662
344 — 17 = 327 576 — 54 = 522
490 — 73 = 417 582 —46 = | 536
457 —72 = 385 430 — 63 = 367
919 —37 =882 711 —19 = 692
882 —84 = | 798 587 —-90 = 497
334 —59 = | 275 417 —-14 = 403
533 —-55= 478 949 — 65 = | 884
440 — 99 = | 341 622 —89 = | 533
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